DECEMBER... A LITTLE BIT OF MATHS EVERY DAY

JustMaths

1 2 4 5
Calalate A squave has a perimeter Solve Without a calcalator, wovk Wovk out What is the 3vd square Write 130 as a product of
of 40cm what is its S5x -3=21 out 150% of 300 number mulitplied by the its prime factors.
2 3 4 avea? 480 + 18 244 cube numben?
7 7
8 9| 10 1 12 13 14
Shave 1980 in the vatio Calalate the avea What is +he percentage Write as an improper Write 106 500 in Uasmine can decovate 37 cakes every O minutes.
4.7 3cm inrease from €480 +o fraction standavd form She works for 7 hours a day.
D ﬁm £600 7 3 % Estimate the total number of cakes she can decorate
] in one day.
5cm
15 16 17 18 19 20 n
A car will depreciate by 20% its oviginal value every Expand What information must be Factovise Think of & number between 0 and 20.
Year. 4%(2x - 1) given to decribe an x? + B + 15 ;A:’jzr’ :
After how many years is it worth less than half the enlavgement? Now d:s::’wgw%
oviginal value? its davk isnt #77 Have a break .. its Chyistmas!
22 3 4 25 26 77 28
Helen £ Nicola shave Write Calalate MERRY Round 0.209 4o the 2 The pevimeter of the tviangle is 64 wm.
some money in the vatio 0.0378 x 103 4+3x5-1 CHRISTMASI! significant figures The sides ave in the vatio: © : 5: 5
1:3. What fraction of the in standavd form Calulate the avea of the tviangle
total does Helen have?
31

What namber is halfway

29 30
Meld and Chvis shave some money

How many prime Aumbers

REMEMBER: The best way +o revise

between in the vatio 3:2. ave theve between 0 and
Med has €35 move Hthan Chvis. 1007 . " "
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Crossover (H and F)



